Amswer ALL questions.
Write your amswers in the spaces provided.

You muost write down all stages in your working.

1 (a) Work out 16— 6 =2

(b)) Write 0.7 as a percentage.

() Write % as 2 decimal,

{d) Find 15% of 120

{Total for Question 1 is 5§ marks)

1 () Solwe 4x=20

NEW

{t) Solve y—8=17

{Total for Question ! is I marks)

Fearaon Edwxcel Leval | Lawed 2 GCEE CF — |Fin Mathamatica
Samols Ansomens Matertals — laaus | — Ssotemtar 2014 & Paarmmon Edwcation Limbwd 2314

NEW




3 Dan bays 24 packets of nuts.
Each packet of nuts weighs 225 g

(a) Work out the fotal weight of all the packets of outs that Dan bays.

Susam is going to have a party.
There will be 50 peaple at the party.

Susan wants to buy enough sausages so that each persen at the party can have 2 sausages.

Thers ar= § sausages in sach pack.
Susan bays 12 packs of sausages.

(b) Has she bought enough sausages?

1 @ Dian buys 24 packets of muts.
Each packet of mrts weighs 225 g.

Work out the total weight of all the packets of outs that Dan buys.

{Total for Question 3 is 5 marks)

3] m}:n:;;izmﬁ_:mmpma @ Appea rs to be
’ Ncrets based on Ql in

Far how many days will the pills last”

Draft SAMs
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(Total for Question 1 is 4 mars)




4 {a) Write down the 2{0th odd pomber

The zum of two consecutive odd numbers is 48

(b} Find the smaller of thess o odd pombers.

Here are the first five terms of an arsthmetic sequence.

5 B 11 14 17
(c) Is 22 a term of thiz sequence?
Show how vou get vour answsr.

4 (@)  Write down the 20th odd number.

2]
(b)  Find an expression. in tems of . for the nth odd number.

{Total for Question 4 is 5 marks)

2]
The sum of two consecutive odd mumbers is 48

(c) Find the smaller of thess rwo odd mmbers.

Appears to be
P <orarim, ® based on Q4in
W A~ 4 Draft SAMs

Explain your answer,

(@ Is42 atenn of this sequenc=?
fexticn Limisd 2314 n

@
{Total for Question 4 is § marks)




5 Ajay owns a cafe.
The pictopram shows mformation about the mumber of each type of fuit he has m the cafe.
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It takes 7 oranges to make 500 miof orange juice.

Ajay has to make | _IJ_ lires of orangs juice.

Has Ajay enough ormges?
You must show all vour working.

NEW

{Total for Qrmestion 5 is 3 marks)



6 Shazia oys 10 boxes of drinks.

The cost of each box of dnnks is £5
Each box holds 12 cans of drnk.

Shmasdhéufmzmnlnumbﬂnf:mfmﬁﬂp each
5She then sells all the remaining cans for 30p each

Work out the total profif that Shazia makes.

Same as Q5 on
Draft SAMs

{Total for Question 6 is § marks)




The diagram shows a right-angled triangalar prism A and a cuboid B

4om S

! 20 cm

10 cm

Show thar the volume of B i= § fimes the volume of A.

The diagram shows a right-angled mangalar prizmand acubaid

Question Tis 3 marks)

Find the ratio of the vohmme of the tansular prism to the vohme of the cubedd.

(Ve VOUT Answer i its simplest fomm. Appea rs tO be
based on Q7 in the
Draft SAMs

(Total for Question 7 is 3 marls)




& Carpet files are going to be used to cover a floor.

The floar is a 1200 mm by 1000 mm rectangle.
Each carpet tile is a 40 cm by 30 cm rectangle.

Exacily 10 carpet tiles can be nsed to cover the fleor completely.
Show in a labelled sketch how this can be done.

NEW

(Total for Question 8 is 3 marks)




9 The diagram shows a shaded quadrilateral inside a square.

Jcm

5 m

Work out the area of the shaded guadrilateral.

4m

Same as Q9 on
Draft SAMs

{Total for Question 9 is 4 marks)




10 Thers are 3 red beads and 1 bloe bead in a jar.
A bead is taken at randem from the jar.

{a) What is the probability that the bead is blue?

Thers ars 4 yellow counters and 3 green counters in a bag.

Sharon puts some maore green counters mto the bag.

The ratio of the mummber of yellow counters to the number of green counters is now 2 -3

(k) How many green counters did Sharen put inte the bag?

Jar A contaims blue beads and red beads in the mtio 2: 3

A 'bead iz taken at random from Jar A
The colour of the bead is noted and the head is put back in Jar A

(2}  Whatis the probabiliry hat the bead is bius?

[
Jar B contins blue beads and yellow beads in the atio 2: 5
There are twice as many blue beads in Jar A as there are in Jar B.
All of the beads fram Jar B are poured info Jar A and thoroughly mixed
Abead is taken at random fom Jar A
()  Work out the probability thar the bead is yellow.

o

(Total for Question 10 i 3 marks)

(Total for Question 10 is 3 marks)

Appears to be
based on Q10 on
Draft SAMs
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11 Here are two idenfical squares.

The first square iz divided into four eguoal parts.
The s=cond square 15 divided inte five egual parts.

The two squares are jomed tegether as shown to make a rectangle.

What fraction of the rectangls is shaded?

Here are two identical squares.

The first square is divided into four equal parts.
The second square & divided into five equal parts.

The rae squares are joined together a3 shown to maks a rectangle.
-
gup]
'
bl .

What Faction of the rectanzls is shadd? {Total for (Qmestion 11 is 3 marks)

Appears to the
same as Q11 on
Draft SAMs NOTE
(Totafor Quston 10 mare) THE MARKS
DIFFERENCE




12 The diagram shows thres sides of a regular polyzon.

/X

The sizs of each exterior angls of the rsgolar polyzon is x°
The sizs of each interior angls of the regular pelyzon is x°.

Work out the pumber of sides the regular polygon has.

NEW

(Total for Croestion 12 is 3 marks)

13 Liam, Sarah and Emily shared some money inthe @t 2:3: 7
Emily got £30 more than Liam.

How much money did Sarah get?

Same as Q13 on
Draft SAMs

{Total for Cuestion 13 is 3 marks)



-

14 The table shows the life expecancy (in years) for males bom in the UK from 2000 to 2012,

IE'.I “d 2000 | 2001 | 2002 | 2003 | 2004 | 2005 | 20046 | 2007 | 2008 | 2009 2010 | 2011 | 2012
Life

eTpectancy | 754 | 757 [ 758 | TE1 | 755 | 769 | 772 (774 | 776 (781 | 784 | 7RE | TOO
{years)

(3] Use this information to predict the life expectancy of a male borm in 2030,

{lhara from stariencs. gov k)

() Maks e comments explaining why your prediction in part (2) may oot be reliabls.

4

Based on Q14 in
Draft SAMs

(i)  Evaluste the relisbilicy of your resilt.

{Total for Question 14 & 6 marks)

(i) is different

Juestion 14 is 6 marks)




15 Giventhat 4=2=3=5 and F=21'=3=5
write dowrn, as a product of powers of ifs prime factors.
(i) the highest common factor (HCF) of 4 and B

Same as Q15 on
Draft SAMs

{ii) the lowest common maldple (LOCM) of 4 and B

(Total for Question 15 is I marks)

16 A rectangular piece of card 4BCF is placed on a horizontal straizht line.

4 E

P C Same as Q16 on
The card is first rotated 90° clockwise aboat Draft SAMs
The card is then roetated 907 clockwise aboar B

The card is then retated 907 clockwise abour 4.
Diraw the locus of the vertex P.

{Total for Queston 16 is 3 marks)



PREVIOUS

17 (a) Sobre the sinltaneous equations Ix+5y=4
x—y=7

(b} Find the mteger value of x that satisfies both the insqualities

x+5>8 ad Xx-3<7

1
EY]

{Total for Qmestion 17 is § marks)

o Same as Q17 on

(Total for Question 17 i § marks) Draft SAMs

Marks for (b) are
different




18 Modelling the planet Mercury as a sphers, it has a radin: of 3240 km.

(a) () Werk out an estimate in square kilometres for the surface area of Mercury.

(if) Writhewt carmying out a forther calculation, give evidence to show whather vour
method gives vou an underestimate or an ewverestimats for the surface area
of Meroury.

In July 2013, the spacecrafi Messenger was near Meroury at a distance of 2.75 = 107km
from Earth

Taking the speed of light to be 3 = 107 ms,
(b)) work out how long it takes light to mavel a distance of .73 = 107 km.

Same as Q18 on

Draft SAMs

18 Modelling the planet Meroury as a sphers, it has a radis of 2240 km

(a) Wark out an estimate in square kilomstres for the surface area of Meroury.

@ { Total for Question 18 is 6 marks)

In Tuly 2013, the spacecraft Messenzer was near Mescury 21 a distance
of 2.75 = 10 km from Earih

Taking the speed of lisht fa ba 3 » 10%ms,
() wark cuat how lons it takzs lizht w wavel adistance of 075 ¢ 10" km.

3)
(Total for Question 18 is § marls)




1% The praph gives information about how the temperamre, I °C, of the amosphers
decreases as the height above ground lewel, b km, increazes.

r

30

20 |-

10

=20

I%

N Based on Q20 on

Draft SAMs

L 2

20 Thegnph

— T,
‘Gecr=ases 25 the beizht above grownd Tevel Ak increases

A balioo: sises wp om ground evel fo s heseht of 5 3 k.
() Use the sraph to astimate the decrease in femparature.

@

@

(1) Use the graph to estimate the i=mpem@nire at a podot 2.5 km above ground lewsl

(1}

A balloon rises up from ground level to a heizght of 5.5 km.
(b} Us= the graph to estimate the decreasze in temperanme.

-
Tean says:
“The temperature falls § *C for every kilometre the balleon rises.”
() What evidence is available from the graph to suppert this?

43

(Total for Question 19 is 7 marks)

@

(Total for Question 201is 7 marks)




10 Michael carried out a survey of the rime, in minates, it takes the 30 people in hizs office to
get to work. This table gives some information aboat his resulis.

Time (¢ minotes) Freguency
O=¢= 10 ]
Mg 20 ]

20 <L 30 1
30 40 4
40 < ¢ = 50 1

Michasl usad this information to work out the mean of the times taken.
He zot an answer of 68 mimugfes.

{a) Explaim why i is impossible for the mean time to be 68 mimutes.

The 2] people in the survey had:
a mean age of 45 years
a median age of 41 years

Michasl decides to mchude hiz age 0 that he works out the mean age and median age of

21 p=ople.
Mlichael iz 42 years old.

Here are two statements about the ages of the 21 people
Statement 1: The mean age of the 21 people is less than 43 years.

Statement 1: The median azge of the 21 peopls is more than 41 vears.

(b)) (0 Is statement 1 cormect? NEW
Yo must give @ 23500 10 SUPPOL Yol ALSWEL.

(it} Is statement 3 commect?
Yo must give @ 23500 10 SUPPOL Yol ALSWEL.

(2]

{Total for CGuestion 20 is 3 marks)




THE FOLLOWING QUESTIONS HAVE BEEN REMOVED:

s Edenosl Livel 1/0ewel 2 GOSE {9 - 1) o Mathematics SAMS = Oralt @ = Mey 20148 Pege 10

6 4BCT)isa quadrilateral

ADE i5 a soaight line
Wtk out the size of the angle marked x.

(Total for Coestion & 15 2 marls)

12 Tazon cycles the 4% miles from Sudbury to Alpheton in 20 puimies.

(@)  Work ouf Jason’s averaze speed.
{(ive your answer in milss per hour.

(2)
Tasen cycles from Alpheton to Bury 5t Edomnds at an average speed
of 12 miles per bour for I% hiurs.
(b  How far does he cycle from Alphston to Bury 5t Edmuonds?

(2)

{Total for Qmeston 12 is 4 marles)




19 The median of five consecutive fegers Is M.

Show that the difference berween the mean and the median of the squares
of the five infepers 1s always 2

(Total for Question 19 is 3 marks)

21 30 children attend a youth chab.
20 of the children are boys and 10 of the children are zirds.
The mean anvount of pocket meney received sach week by the boyvs is £7
The mean amonmt of pocket money raceived sach week by the girls iz £10

Work out the mean amount of pocket money received each week by all the children
artending the youth chab.

{Total for Question 21 is 2 marks)



